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2A: sHIIsUEH
M & U=y (sgHidsd/s - &)
chel: SEXCIIY =& U Azrds (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sYJI=HH 13,608,297 8,897,554 4,710,743
= 2,022,055
[ 1,192,000
Jl 8,319
< 866,633
T 9,519,290
sZE JUSY(sHddsd /=2 - SF) 3,707,286 3,614,832 92,454
= 298,005
s 100,000
== 203,533
o 3,105,748
SEANoIE &#F & ALt 1,067,758 689,533 378,225
= 54,355
= 100,000
== 13,832
= 899,571
sSI|s0E Atz 560,202 405,874 154,328
201 er23| 191,032 161,823 29,209
01 At2teltl 34,468 34,468 0
OHAIZOH 201ZH| A& U SIS
150,000 *8IH A+ 128 14,400
O&=J| & Hitl gxt= 8,508
-S| dE 2ell
40,0002 x130H 12 6.240
-t alg 2l 18,9002 10CH* 12 2,268
OdJIHHUd ==
100,000& #3042+ 128 3,600
OALHEUEY 2
110,000 x30H 2% 123 3,960
OFAL MI3EAIE=S A SHH| 4,000
-gJ| ™A S99
2,000,000& %12 2,000
-3 otMAH SS9
2,000,000& %12 2,000
02 S5=24g4l 156,564 127,355 29,209
o®Jl o= 111,000
-2 & (L BHE400Kw, A= 117Kw)
8,500,000&  12& 102,000
-SIAHSUHAIS EH(SRE)
300,000& * 128 3,600
SIS UHAISE (M RE)
300,000& * 122 3,600
-OIEE 150,000& * 12 1,800
Odot=R= 6,000
=% 350,000& * 128 4,200
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AN sl
M =& QIASH(SUHSI/ Y - SE)
chel: SEXCIIY =& U Azrds (cre:xigl)
SN - HB - GRI(S1) - HRMY - BAS A 2
OxrgE2d s X 12,000
-tesE 130,000 *2CH» 12 3,120
-SE3=2(EXL,
65,0002 =2CH*12& 1,560
==l 110,000 »5CH» 123 6,600
-S8&IIX 20,0003 = 1CH*12& 240
-AEEEd 20,0002 +2CH+ 123 480
OXS XA 1,076
-thags= 200,000 *2CH 400
-S83I=2(E
90,000 *2CH 180
-AEEE 57,150 +5CH 286
-SEHIIX 150, 0002 1CH 150
=kl == S 30,0002 *2CH 60
OXsxtEE 8,136
-tesE 500,000 «2CH 1,000
-SEE(
500,000& *2CH 1,000
-2832 307,100 %5CH 1,536
—KIAHIXt 900,000 *3CH 2,700
-S8&IIX 600,000 *1CH 600
-A83= Xt 650, 000& *2CH 1,300
OSENERE3 138
-=, L0832 23,0003 *3CH*23] 138
O&EIIBA===E 270
-tesE, Sese, A8E=E
30,0002 «9CH*13] 270
SEX AL XIR 44,906 42,754 2,152
101 @I24H| 31,936 29,784 2,152
04 JI2EHIZ2Z2 Rt 31,936 29,784 2,152
Oontsrd=ss £
76,9603 x10H *352 26,936
O=g)|=4 IEMHESE 5,000
“MHEE 2,000,000& 2,000
-IEZE 3,000,000& 3,000
201 2| 3,360 3,360
01 AFS2teltl 3,360 3,360
OXESAIEED 12,000& 1005 1,200
(OL=PSPNER=En ZOHAHI
8,000 x5 +54 2,160
202 044l 2,730 2,730
01 =Ll 2,730 2,730
O=sEXNE dZ38 f =& =
Ol (22l) 70,0002 2 +7 980
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2A: sHIIsUEH
M =& QIASH(SUHSI/ Y - SE)
chel: SEXCIIY =& U Azrds (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odols 28 AIRES 7Y
33,0003 *55+4H 660
= 330
Ea 330
NeZSRE 2SS (AH) 15,460 15,460
202 04| 2,520 2,520
01 2K 2,520 2,520
ON=s22 A2+ U (22) 2,520
-S4 70,0003 x5 4 1,400
A= 70,0002 x4 H 4 1,120
206 M=l 10,000 10,000
01 M=4l 10,000 10,000
O13= 1IHEXNTA 2 dsliz 28
400,000 x25H 10,000
301 22N = 2,940 2,940
14 JIEt2 8= 2,940 2,940
OZAHl 15 2,940
-Jl= 250,000& *62 1,500
-=1 120,000& %123 1,440
NESRY ME2SHEU(EX) 10,000 10,950 A950
= 5,000
s 5,000
201 et 3| 8,000 3,380 4,620
= 4,000
Ea 4,000
01 At22t2ltl 8,000 3,380 4,620
OXNEs7E HE2E UHEd
3,200,000 1 3,200
= 1,600
o 1,600
OXNEsFE S¥MdsuF
800,000 ~1&H 800
2 400
2 400
OdzA=(2HE) 4,000,000 1 4,000
= 2,000
= 2,000
202 04t 2,000 4,750 N2,750
= 1,000
o 1,000
01 2L AL 2,000 4,750 A2,750
OSSR d2szneasia
20,0002 *x25H *43] 2,000
= 1,000




2A: sHIIsUEH
M =& QIASH(SUHSI/ Y - SE)
e sEANSI|E &5 2 Agds (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 1,000
SENZAMY 24 22 29,958 28,382 1,576
101 ©1AH| 9,236 8,794 442
M ORNZZ2NSE S 9,236 8,794 442
OXNEAIg 2 2 AFY
76,9603 38 x40 9,236
201 er23 | 6,768 5,634 1,134
2 35234l 6,768 5,634 1,134
OsENEAE Mz 24 23| 6,768
-2E2A4E X & A2 RS
1,800,000 100 2 1,800
“HHHAZHI(ER) 1,840 18 £ x150 4,968
206 MH=HI 10,954 10,954
01 MZH| 10,954 10,954
OddiE MMz, &&, EHS MY
24,3003 x75+350H 5,94
O=alz, )RI=2, =2 7+
20,000 x55+50H 5,000
401 AIEHIZ SR OHYI 3,000 3,000
01 Al&HI 3,000 3,000
OXNEAIH 24 FAE4 A
3,000,000& 3,000
St AAS ASHAL 29E 20,696 13,500 7,19%
101 @124H| 7,69% 0 7,6%6
M IIRIMZENSES 7,696 0 7,69%6
OASHAIEZ2E QR AIS
76,9603 x5 »20! 7,6%
206 M=l 13,000 13,500 A500
01 M=8l 13,000 13,500 A500
OXZAE, O|MAZAT g=
1,8002 *55+1,0005= 9,000
OZ240 Al e
20,0003 *205* 107K 4,000
ASYE ASSHESAE At 107,666 136,326 /28,660
= 46,105
= 13,832
= 47,729
101 @124H| 107,666 136,326 A28,660
= 46,105
[ 13,832
Ea 47,729
M ORNZZ2NSE S 107,666 136,326 N\28,660
Oalsd AlISSHESAE A 107,666
-Jl=s 96,0003 *32 260 74,880
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2A: sHIIsUEH
M =& QIASH(SUHSI/ Y - SE)
chel: SEXCIIY =& U Azrds (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 31,200
=S 9,360
s 34,320
=58 96,000 3 *51 14,688
= 6,120
= 1,836
o 6,732
= PNESy 96,0002 *x38 11 3,168
= 1,320
= 3%
o 1,452
ARl 2EE 41,470,000 *3H *12% 14,930
= 7,465
= 2,240
o 5,225
=M seresl o (KA 50,000 50,000
201 =3 11,800 11,800
01 At22t2lt] 11,800 11,800
Osgetgs |4 A= (SIHI)
6,600,000& 10 2 6,600
O=& 2&sxg gx= 400,000 *3CH 1,200
OsgRA 28 =58 74
20,0003 *55+50H 500
Oogdgz 2344 M=
15,0002 * 1002 1,500
O8e H=E= 7 10,0002 x25+100H 2,000
206 M=l 3,200 3,200
01 MZH| 3,200 3,200
Ogd U St 82Ms 78
50,0003 »8Z+8H 3,200
401 Al HIZL R 0HbI 35,000 35,000
04 HARZHEAIZH] 35,000 35,000
O82 & HiFA &1 =4l
30,000,000& *13] 30,000
OS=att & AAATe S NEEX
5,000,000& 12 5,000
SEXNDIBEY (0l 2l 235tat) 200,000 200,000
[ 100,000
s 100,000
401 Al HIZL S 0HHI 200,000 200,000
[ 100,000
[Ea 100,000
01 Al&HI 200,000 200,000
OXIEIIBIAIE HESSAHF 25 7L) 200,000




2A: sHIIsUEH
M =& QIASH(SUHSI/ Y - SE)
chel: SEXCIIY =& U Azrds (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—AA & 12,000,000 * 14 12,000
= 6,000
= 6.000
A2 A 188,000,000 *14] 188,000
[ 94,000
s 94,000
sSEEE5sd 2,077,208 2,440,529 A363,321
= 211,180
=S 158,400
s 1,707,658
felsag+al |54 9,080 7,250 1,830
201 et 3| 2,160 1,800 360
01 AtR2tc|bI 2,160 1,800 360
O9gds HHus A2H 2HES 7
12,0003 %30 *63] 2,160
202 04l 720 720
01 2LHoIH 720 720
OR2ISAATHIA HYX
20,0003 x3& » 12 720
206 M=l 3,750 3,000 750
01 M=4l 3,750 3,000 750
Ooggdst Mus Alg 7
25,0002 *x30H +53] 3,750
301 LELE NS 2,450 2,450
14 JIEt2d= 2,450 2,450
Odgdst HHuns ZA=(18) 2,450
-JlE 250,000 x12H 53] 1,250
-=1 120,0002 x1& %102 1,200
SENZA SAdg AAE(HEAY) 50,000 50,000 0
< 25,000
[Ea 25,000
402 212 X201 & 50,000 50,000 0
< 25,000
s 25,000
02 QIZEHE AL E (01X THE) 50,000 50,000 0
OSE0Z4 SNMHAAY
50,000,000 *1IH 2 50,000
= 25,000
Ea 25,000
FAX 221 H 2 A 200,000 200,000 0
= 100,000
= 20,000
Ea 80,000
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2A: sHIIsUEH
M =& QIASH(SUHSI/ S - SE)
o sEEHST (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 200,000 200,000 0
= 100,000
== 20,000
[Ea 80,000
01 AL =S F=H 200,000 200,000 0
OYUSIIH PY(52E EHE 2 95)
20,000,000 *10CH 200,000
= 100,000
== 20,000
o 80,000
SYUES ANAID 0l MESHEESAIY) 30,000 30,000 0
= 15,000
= 15,000
402 QI2F X201 & 30,000 30,000 0
= 15,000
Ea 15,000
02 RIENZAEEZ(0IETHR) 30,000 30,000 0
O=gas AEAL Mg 423t
30,000,000 *1IH 2 30,000
== 15,000
o 15,000
NeSst s3Il 235 AN 27,929 10,015 17,914
= 4,000
= 23,929
101 @124H| 27,929 10,015 17,914
= 4,000
[Ea 23,929
04 JIZtNZ22 NS+ 27,929 10,015 17,914
OXgSe sl H=235t 214 27,929
-Jl=s 76,9603 x1H 260! 20,010
= 2,900
o 17,110
-=5g 76,9608 18 x52& 4,002
= 555
= 3,447
-xt=g 76,9602 x 112 924
= 115
o 809
ARl 2EE 24,935,040 *1H*12% 2,993
= 430
T 2,563
ARsgel JI=Ss)sl=s 10,000 10,000 0
= 3,000




2A: =30
Mz == O
o e o

[

[=}

=aak

S A - BRI - HRA - BES of e A
[Ea 7,000
201 er23y| 2,810 2,810
= 843
s 1,967
01 AtR2tc|Hl 2,810 2,810
O8l==0f M= 70,0003 *3H 210
= 63
o 147
OuM Mz & ¢ 10,0002 x40 »22| 800
= 240
o 560
Ous 298 =5 7& 20,0002 +40H 800
= 240
e 560
Osgas ez 500,000 ~2CH 1,000
= 300
= 700
202 04l 560 560
= 168
[Ea 392
01 2L AL 560 560
OFs o & s 4 A0 (=2)
60,0002 x1&+3 180
= 54
[Ea 126
OFls eddgus 4 =0
20,0003 x 1 » 19 380
=2 114
[Ea 266
206 =4I 3,200 3,200
= 960
s 2,240
01 M= HI 3,200 3,200
Ou= d& M=l 20,0002 x40 *23] 1,600
= 480
T 1,120
OlitiasE s ER 7L
20,0003 x40 +23] 1,600
= 480
[Ea 1,120
301 Eet2 NS 3,430 3,430
= 1,029
[Ea 2,401
11 dALEEIXIE S 600 600




2A: sHIIsUEH
M =& QIARH(SUHSI/ S - SE
ool sEEdssd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ous a4l 8,000 x 152 +53] 600
= 180
= 420
14 0Bt 2 a3 2,830 2,830 0
OZAl 15 2,830
-Jl= 250,000 #72] 1,750
= 525
Ea 1,225
-1 120,000 %93 1,080
- 324
o 756
d25t=s8o SYAIH 17,260 9,580 7,680
201 fer= 3| 1,980 1,880 100
01 AtR2tc|HI 1,980 1,880 100
OF=Estu=s S5 M=
70,0002 4 280
OZE=u=s AMRES 728
50,000& x2&+57H 500
OdEstus oy 2218 7¢
120,000& %105 1,200
202 04| 2,800 200 2,600
01 2LHA b 2,800 200 2,600
OsY, &9 F=2stus 4 =30
70,0003 28 »20 2,800
206 MH=HI 1,900 1,100 800
01 MHZH| 1,900 1,100 800
OZEaA sdds Uslie
30,0002 x35+10H 900
Od=3s OILI0, A =23 78
50,0002 x25+10H 1,000
301 2= 10,580 6,400 4,180
11 AALAEIXIES 4,900 1,960 2,940
Od=stsgol XA F424=
50,0002 x30& +23] 3,000
OZE=t=sgl us =4I
8,000& 158 x102] 1,200
OZE=t=gol us 4 24| 350
-S4 WA 50,0002 x3E *13] 150
“EEe uFsEA 20,000 *10E 12 200
Osgo 23 il &4 350
-ot= =20 =23 U2
50,0002 x3H *13] 150
-dg sl 23 i3
20,000 *10E 12 200
14 IIEt2 83 5,680 4,440 1,240
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T SROIBME et )
;ij; iiﬁjla—j\ejé?;j&(lgDOHo_rl_/oﬁ o (EI-_C,Z| i‘_-l—c.’:l)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OFE3lus 2AHI(12) 1,960
-Jl2 250,000 * 1 *43] 1,000
-1t 120,000 *1H +83| 960
OFBSUE 2AEI(22) 3,720
-Jl2 150,000& *1H *122] 1,800
-1 80,0003 x2 123 1,920
sS4t 20 =0 el OHE XA 10,000 10,000 0
T 2,800
[ 7,200
307 212+01™ 10,000 10,000 0
& 2,800
= 7,200
02 QB AAIEER 10,000 10,000 0
Os=4t2 2D =t Z el OBiIE X
10,000,000 *1JH 2 10,000
& 2,800
= 7,200
2As Algzel & 408 X3 7,300 10,000 A2,700
= 3,650
[ 3,650
201 B2 AL 5,200 6,760 A1,560
= 2,600
= 2,600
01 At 2elt] 5,200 6,760 A1,560
OZas N &It 5,200
~FAl 24 Al
4,500,0002 13| * 10 & 4,500
= 2,250
= 2,250
-8 == ME 1,000&*10024 100
= 50
= 50
2is N 28 82 7
200,000&*35 600
= 300
= 300
202 04dl 600 700 A100
= 300
[ 300
01 =ZLHOdHI 600 700 A100
OZic=s U &4 L STXA oYl
100,000 *1H+6 600
= 300
= 300




2A: sHIIsUEH
M =& QIASH(SUHSI/ S - SE)
ool sEEdssd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 1,500 1,700 A200
= 750
= 750
01 HEH 1,500 1,700 A200
OYLs UE =22 HAl 25 2
30,0002 x65+108 1,500
= 750
i 750
oz 54 NEAE 22,500 20,000 2,500
= 11,250
= 11,250
201 er23| 2,070 1,300 770
= 1,035
= 1,035
01 AlR 21| 2,070 1,300 770
O#49¢ RI= 70,0002146) 420
= 210
2 210
OYss DS DM HA
30,0002 *30& 900
2 450
2 450
OYLs DS 29 ARSE 7Y
150,000 +55 750
= 375
[Ea 375
202 04| 1,440 400 1,040
= 720
e 720
01 =LHO LI 1,440 400 1,040
OZAs D 6 28 2oyl
40,0002 x2H 35| x6E 1,440
= 720
= 720
206 MH=H| 3,000 900 2,100
= 1,500
o 1,500
01 M=4l 3,000 900 2,100
Odas W= M=l
25,0002 *x30H *43] 3,000
= 1,500
T 1,500
301 EtE NS 15,990 7,400 8,590
= 7,99
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2A: sHIIsUEH
M =& QIASH(SUHSI/ S - SE)
ool sEEdssd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 7,99
11 #AIAHIXIZ S 2,820 480 2,340
Ok, 8% us FH24=
50,0002 x3& x32|+x2& 900
= 450
[Ea 450
OZis Us &4 S42d
8,000 %302 +83] 1,920
= 960
[Ea 960
4Bt 2as 13,170 6,920 6,250
OZAHI(13) 7,320
-Jl= 250,000 x1 Al 2Hx123] 3,000
= 1,500
T 1,500
-=1 120,000& #3A1 2+ 123] 4,320
= 2,160
Ea 2,160
O AtHI(23) 5,850
-Jl= 150,000& x1Al 2= 156H 2,250
= 1,125
T 1,125
-=1 80,0002 x3AI 2+ 15" 3,600
= 1,800
[Ea 1,800
Aol FGAHEY HEE 3,000 4,280 1,280
= 1,500
o 1,500
206 M=l 560 0 560
= 280
T 280
01 MHZH| 560 0 560
Oxdseol BE AL 27 W=
28,0002 x2S +5E+20H 560
= 280
o 280
301 eEetE2 N = 2,440 3,400 A960
= 1,220
s 1,220
14 0Bt 2as 2,440 2,800 A360
OZEE ZAME(13) 2,440
= 250,000& *1 Al 2*42] 1,000
= 500
s 500




2A: sHIIsUEH
M =& QIASH(SUHSI/ S - SE)
ool sEEdssd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-=1 120,0003 3 Al 2++43] 1,440
= 720
= 720
Srsgol SHEASUT 30,000 30,000 0
= 15,000
s 15,000
301 EtE NS 30,000 30,000 0
= 15,000
[Ea 15,000
14 JIEt2 = 30,000 30,000 0
OtlA=sgel S5 uS
1,200,000& x50 A+50H 30,000
= 15,000
= 15,000
sSIHLHAE (2E) 464,072 513,842 A9, 770
201 ger=2 3| 64,672 55,692 8,980
01 AtR2t2|HI 14,820 10,270 4,550
OsIIHUAME S22 MH
1,000 *2,0000HK 2,000
OS2I QDS DT KA
2,500 *400 1,000
Ons7d(Hyd, HY=s, 0183 5)
270,000 x5 <33 4,080
OAUAIY SHAAH STB2I]
1,200,000 *37 2-*12] 3,600
OsJIH U MSIHE Z2H ===
30,000,000 *3H 2%2. 3% 2,070
OsHIIE 5232 HjAl)
8,000& x3&+40& 960
oot 2e| Xt W= 70,0002 x3H*23] 420
OsJIHgUE =TI 2el]
20,0002 *3 A+ 123 720
2 52434l 49,852 45,422 4,430
Oglis A & 2eldtl 8=
150,0002 *130CH 12 19,500
OH=IIA 2el&Hl |2
450,000 «35*22 2,700
OSUsIIAH RAIE+H
200,000&*1005 20,000
OsJIHSUANEE SN2
2,000,000 * 104 2= 2,000
OsJHunsE ¥ UMY Zdl 28 |RFUH 2,792
-REU(EF) 1,840 #8002 & 1,472
~RFU(ER) 1,6202x6002| Ef 972
-REH(EER) 1,740 2002 | & 348
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2A: sHIIsUEH
M =& QIASH(SUHSI/ S - SE)
ool sEEdssd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORolez S+A22a
130,000 x 11223 2,860
202 04dl 4,400 3,150 1,250
01 2L AL 4,400 3,180 1,250
OsIIHSUHAIY WE 4 IO (22l)
70,0003 x4 10! 2,800
OSIIASUAYE R =H0H|
20,0002 ¥4 +202! 1,600
206 Tl 50,000 50,000
01 WEHI 50,000 50,000
OYUSIIH 424 28 % 27 7Y
100,000& #2505 23] 50,000
401 AlZHIZ SO 15,000 20,000 /5,000
01 A28l 15,000 20,000 25,000
O3 MHMugd 24
15,000,000 * 104 2 15,000
405 AHaHE S 330,000 385,000 55,000
01 AL =S F = 330,000 385,000 /55,000
OY=sIIA 2L (-FOA L AEsIIA
23) 10,000, 0002 *33CH 330,000
SIHLUAMNS (SFE) 214,610 42,352 172,258
201 er2 3| 26,910 22,352 4,558
01 AtR2t2|HI 2,910 2,430 480
Ou=s7 (g, &as, omsl)
270,000 x3H+33] 2,430
OsHIIE 5232 HjAY)
8,000 x2& *30! 480
2 5234l 24,000 19,922 4,078
Oglis A & 22yl 8=
150,000 *00CH %12 13,500
OFFEIIRl S 2cIEHl KRAL=H]
400,000 *35*22 2,400
OSUsIIAH RAIE+H
200,000& 205 4,000
OsIIAHSUAEE S22+
2,000,000 * 10 2= 2,000
OsJHunSE ¥ UMY Fdl 28 |RFH 2,100
-REU(EF) 1,840 6002 & 1,104
~REU(FER) 1,7402 %2002 Ef 348
-RRUH(ES) 1,620 *4002| &4 648
206 M=l 20,000 20,000
01 M=4l 20,000 20,000
oglsIIA 224 258 & 37 72
100,000 x1005+23] 20,000
401 Al HIZL S 0HYI 167,700 0 167,700
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M =& QIASH(SUHSI/ S - SE)
o sEEHST (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At 167,700 0 167,700
OSIIHYUAIRA 2% EXHY
150,000 %1, 118m* 167,700
sIHL UM (HRE) 42,060 36,752 5,308
201 fet=2 3| 24,060 21,752 2,308
01 AtR2t2|HI 2,910 2,430 480
Ons g (sdy, &=, etdst §)
270,000 x3H +332] 2,430
OsHIIE 5232 HjAY)
8,000 x2& *30 480
2 s5=34l 21,150 19,322 1,828
OSUsIIAH & 2e|3Hl 282
150,000 75513 11,250
OdlsIIA RXE=4|
200,000 »20CH 4,000
OsSIIAHSUAEE FXE+
2,000,000 * 104 2~ 2,000
OgUsIIA 2el&Hl RAL==H|
300,000& «35*23] 1,800
OsJHuns ¥ UMY Fdl 28 |RFH 2,100
-RRUHESR) 1,840 6002 | & 1,104
~REU(FER) 1,7402 %2002 E 348
-REUH(ES) 1,620 +4002| &4 648
206 M= 18,000 15,000 3,000
01 b 18,000 15,000 3,000
OYUUSIIH 428 25 L 37 2
60,0002 x1505+23] 18,000
sgol AgA 29 108,354 72,261 36,093
101 @124H| 108,354 69,601 38,753
M ORINZZ2NSE S 108,34 69,601 38,753
Osgol agad el 108,354
-Jles 76,9603 *32H 260 60,029
=5xg 76,9603 3 522 12,006
0= 60,028,800 *4/ 12 20,010
-xt=g 76,9603 38 12 2,771
A = 94,816,000& *12% 11,378
-JI2tHI22 A K|
60,0002 *x3& * 12 2,160
SIH ATAE L cISA A 23,004 23,004
201 2= 12,114 12,114
01 At22t2l] 12,114 12,114
Ou=E sIIAHSA 8,514
-EdH, SHiel 2+
477,000 « 120112 5,724
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=EH2EE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e IS F3 2L
90,0002 +31CH*13] 2,790
Ou=s+7g(Hyd, &Ag=s,ot8st §)
200,000 x3H *43] 2,400
OsIIH «=cl8Hl u=x RS A8t S
Z0HAMHI 8,000& x3& »50& 1,200
202 04l 1,890 1,890
01 2LHoIH 1,890 1,890
O=12 +2i58| DEEH 0| (22)
70,0002 x3H 0 1,890
206 MH=H| 9,000 9,000
01 M=4l 9,000 9,000
OsJ1H I8l 1s8 37 & 224 M
=7 41,6602 605 *22 5,000
OsJHzslsel 257 (HZEH 2 395
) 100, 0008 *405+13] 4,000
SMESEIIS dEH=2Y 149,221 406 148,815
101 2I24H| 9,975 0 9,975
MU IIRINZZENSES 9,975 0 9,975
Ost=SEIIsdH 248 A2 9,975
-Jl=s 76,9603 x2& x40 6,157
=58 76,9603 x2H+8L 1,232
-AtelEE= 10,774,400 +2% *12% 2,586
201 er=23| 83,066 406 82,660
01 AtR2te|Hl 11,480 0 11,480
Ostt=E8IsdH 88 &% %
70,0002 = 107K 700
OsdEsells sz M
5,000 %25+ 1000H 1,000
OXJIIHEUY === 275,000 122 3,300
OSIAH| Al St
150,000& * 12 1,800
OANRESE, 2823 7Y
3,000 *105+20H 600
OHACCP 215 2= S Al 900,000& x45 3,600
Osdt=lls g% =4 2 Al
8,000 x2& »30! 480
02 S3=gHl 71,586 406 71,180
OJIS8Hl € AME 2IRAES
2,500,000 #75 17,500
OoNIIR3 2,200,000 12& 26,400
OAMMSHE & 2dI2d ==U 10,886
3= 1,840 +702| & +502] 6,440
-Flg= 1,740 +202| E4+302] 1,044
S 1,620 *702| E4 %302 3,402

_18_




2A: sHIIsUEH
M =& QIASH(SUHSI/ S - SE)
o sEEHST (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odote= 2= 150,000& « 12& 1,800
OsUSEEIIBHE A2 SAlZeldl
15,000,000 15,000
202 04| 1,180 1,180
01 2LHA b 1,180 1,180
O € & &9 JIBus 4 ol
70,000& %10 700
OsdtE I8 st &8 X2
20,0003 x2& » 12 480
206 M=l 15,000 15,000
01 M=4l 15,000 15,000
OJIs88l 2248 3+ & XM
10,0002 x25+500H 10,000
OsStE NYSeES IISANS 288
500,000 x105 5,000
405 AHatE S 40,000 40,000
01 ML ESFSHI 40,000 40,000
O=2Mstt=2 AsHEL, EEII S IS
D) 20,000,000& %25 40,000
SCHREEUSE 29 & 2l 18,288 20,158 1,870
101 21AH| 3,848 3,518 330
04 JIZtN2Z2XNS 2= 3,848 3,518 330
OZcAFENFE 2| LAAMHIESY
76,9603 x 18 50 3,848
201 er23 | 11,000 7,300 3,700
01 At2t2ltl 2,000 1,500 500
OReclas, Blelatt s S A28 7Y
20,0002 *105+102 2,000
02 S3=gHl 9,000 5,800 3,200
O2cAREE uFsE AL KA & =il
3,000,000& *23] 6,000
O&XM 22 2887, 3l !N € =
cltl 1,000,000 +35 3,000
202 04l 1,440 840 600
01 =LHAHI 1,440 840 600
SCHRTENSE T2 Y 8 =
&l of8l 0,000 x3& x24& 1,440
405 AtaHE = 2,000 1,200 800
01 L ESFISHI 2,000 1,200 800
ORSH 2 [12XE DS I 72
1,000,000 x25 2,000
sEARS Z20d 29 13,920 9,040 4,880
201 er23| 2,000 1,680 320
01 At2tltl 2,000 1,680 320
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2A: sHIIsUEH
M =& QIASH(SUHSI/ S - SE)
ool sEEdssd (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oxkd 820X . x2ele+ S)7Y
10,0002 x205+102] 2,000
202 04dl 300 80 220
01 2L AL 300 80 220
OSZEASS T2 22 Y42 4+ 0f)
20,0003 3 +53] 300
206 M=H| 7,200 3,360 3,840
01 MHZH| 7,200 3,360 3,840
Os&A2s Z2Jd Ws e 7Y
20,0002 x24H 153 7,200
301 EtE N = 4,420 3,920 500
14 J|EIE &S 4,420 3,920 500
O=sZEARS Z208 22 ZAHI(12) 4,420
-JIZ 250,000« 1 =102 2,500
=1 120,0002 18 x 162 1,920
stte SEXNE SUE 25 19,330 32,400 A13,070
201 er23| 7,490 16,340 28,850
01 At2t2ltl 7,490 6,340 1,150
O =5 M& 70,0002 *4H 280
Oz IS (1HEH)
200,000 * 122 2,400
OS\Z 0I0IX 2EI= FA(1EHSE)
150,000« 12& 1,800
ORE ZE Fg(1E82d)
80,000& * 122 960
ObItIogEd =2 da ARF 728
70,0002 %155 1,050
Ooltiogss 28 25 74
50,0002 *10= 500
OEE= M 100,000& %52 500
202 04l 600 400 200
01 =LHAHI 600 400 200
OYAEY U 22 2U0iH|
20,0002 38 *102] 600
301 LEtE NS 11,240 10,660 580
14 0Bt 2as 11,240 10,660 580
Osde EUE 22 1T 2AHI(18) 2,960
= 250,000 x2H #43] 2,000
-1 120,000 x2& *43] 960
Ostt= 29 FAHEI(22) 8,280
-Jl= 150,000 x38 *123] 5,400
-1 80,0003 x3& x 122 2,880
AOE 24 77,250 89,599 12,349
01 eIA4H| 33,400 29,49 3,901
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o sEEHST (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORIMZZ2NSE S 33,400 29,49 3,901
OZ&tac| ARAY 33,400
-H= & OIF ARAS
80,0002 %33+ 102 5,400
A2 U ABBE| QR
140,000 x 10 x202 28,000
201 er2 3| 35,050 20,500 14,550
01 At2tltl 35,080 20,500 14,550
Ogd2xd it 600,000& *102] 6,000
OZ&xrd AR 7002 %25,000m" 17,500
OsgHI=Ha 77,000 »150m* 11,550
206 M=l 8,800 29,600 /20,800
01 MHZH| 8,800 29,600 /20,800
Oogztztel M=+ 8,800
-EHl, Hlg 6,000 *300% 1,800
A2 2N 150,0002 x105+23] 3,000
—OFAL 200,0003 *20CH 4,000
SIAHASUHAMS 2 LRl K& 30,000 30,000 0
[ 9,000
Ea 21,000
101 @124H| 30,000 30,000 0
S 9,000
= 21,000
M ORINZZE2NSE S 30,000 30,000 0
SIHSUHAIHE 224 Q12H| 30,000
-Jl2s 76,9602 x250d +1H 19,240
= 5,772
o 13,468
=5rd 76,9603 502 x1H 3,848
[ 1,154
T 2,694
-Ext=g 76,9602 x102+18 770
= 232
[Ea 538
-&0= 1,511,000& x22]+1H 3,022
s 906
s 2,116
-AtelEE= 26,000,000 *12% 3,120
= 936
= 2,184
SENY g =3k 23,840 48,250 N24,410
201 fer23| 2,300 6,900 /4,600
01 AtR2t2lHI 2,300 6,900 4,600
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ool sEEdssd (St &)
SN - HB - GRI(S1) - HRMY - BAS Ol &t e B2
Oodg 23t u=E =N 2 282 23 2,300
-ANSRES 5,000 x5 *200H 500
—u=WH 30,000 *3&+20H 1,800
206 =4I 9,600 7,250 2,350
01 M=l 9,600 7,250 2,350
OoMg 23t us Mz 7
30,000& * 16 202! 9,600
301 LetEEZ 2,940 2,940
14 J|EIE2 &S 2,940 2,940
OLo|Mg 23 s 2AHI(12) 2,940
-Jl= 250,000 »1H 63! 1,500
-=1 120,000 1H*123] 1,440
405 KHoHE S| 9,000 34,100 225,100
01 ML ESHSHI 9,000 34,100 225,100
Oolus 23 DS XY PY(SN L 4o
& s) 3,000,000 +33 9,000
SENE A58 X ussE 84 4,830 4,470 360
202 044l 1,000 0 1,000
01 =Ll 1,000 0 1,000
O=s=XE A=5 SENR
20,000 x2H 25 1,000
206 =4I 2,000 750 1,250
01 M=l 2,000 750 1,250
OxguEsy 4 UsHa 2
50,0003 *2001%25 2,000
301 LetEEZ 1,830 1,720 110
14 JIEt2 43 1,830 1,720 110
OXssd |4 s ZAHI 1,830
-Jl= 250,000 »1H+33] 750
-t 120,000 *3 Al 2+x32] 1,080
Ctet Loy 82U=s 1,500 3,000 21,500
= 750
i 750
206 M=l 520 1,580 21,060
= 260
= 260
01 M=l 520 1,580 21,060
Otigs S|4 28 DS a7y
10,4003 x25 23] 520
= 260
s 260
301 LEtE2NF 980 1,220 A240
= 490
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M =& QIASH(SUHSI/ S - SE)
&t ==843Ed (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 490
14 0Bt 243 980 1,220 A240
Ohrget L/ 28 us ZAHI(18) 980
-Jl= 250,000 22 500
= 250
Ea 250
-=Jt 120,000 2 Al 223 480
= 240
o 240
A=sY 2dst AZA 24,000 26,000 /2,000
s 9,000
s 15,000
402 2I2FXH=201H 24,000 26,000 /2,000
[ 9,000
Ea 15,000
02 QI TH2AILEE (01X THE) 24,000 26,000 22,000
OIS 88 N
30,000,000 *17H 2= +80% 24,000
= 9,000
= 15,000
FHASYO ZdE ML A 90,000 45,000 45,000
= 45,000
s 45,000
307 21201 & 90,000 45,000 45,000
= 45,000
[Ea 45,000
02 LB HANHEE 90,000 45,000 45,000
OFdsgel 3dH ML At
50,000,000 *2& *90% 90,000
= 45,000
= 45,000
IS JIEgs) BSMHE XML 12,000 12,000 0
= 3,600
o 8,400
402 2I2F X201 & 12,000 12,000 0
== 3,600
o 8,400
02 SIINEANSEX(0IETHR) 12,000 12,000 0
OZEIISE JI&=sIH M KB A
15,000,000 *17H 2=*80% 12,000
= 3,600
= 8,400
SEHE AL SEAY 20,000 0 20,000
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M =& QIASH(SUHSI/ S - SE)
o sEEHST (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 20,000
402 2IZtA=01d 20,000 0 20,000
< 20,000
02 DIZHAFE A2 X (01 R TH2) 20,000 0 20,000
OSEHA AR} QLA
20,000,000 * 100 2 20,000
= 20,000
NS SaEs 8433t Jlgt &4 7,860 0 7,860
202 04l 960 960
01 =LHA LI 960 960
OXNSEEst Jts st &€& K&
20,0003 x2& 24 960
206 M=l 2,000 2,000
01 M=4l 2,000 2,000
OsttElisdEs Mg 78
25,0003 20 *42] 2,000
301 2EN= 4,900 4,900
14 JIEt2 8= 4,900 4,900
Ot Jis & 39 1S 4,900
-JlE 250,000& * 12 *102] 2,500
-=1 120,000 x1& »203] 2,400
HdSAE €2 I8 78 JlEt &4 100,000 100,000
405 AtatE = 100,000 100,000
01 TR ESF SHI 100,000 100,000
ONSERIIS 0lsA LEEH|
20,000, 0002 =5CH 100,000
Lo IIBAE 28 22U 4,000 0 4,000
= 2,000
[Ea 2,000
206 M=l 2,530 0 2,530
= 1,265
o 1,265
01 M=4l 2,530 0 2,530
Ol JISAE 28 d2Us M=
33,7303 x25 2 *32 2,530
= 1,265
[Ea 1,265
301 EtE NS 1,470 0 1,470
= 735
o 735
14 DBt 2 a=S 1,470 0 1,470
ORI JISAS 28 d2uF ZAH] 1,470
-Jl= 250,000 *32] 750
= 375
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101 21A4H| 26,000 19,786 6,214
04 JIZtN2Z2 XS+ 26,000 19,786 6.214
OZEXY 2T ZAIAME 26,000
M= 130,000& x10E 6 7,800
-Eldl & HIZ AlHI
130,000 x 10 x2 2,600
IS 2 0lA &Y
130,000« 10 = 12& 15,600
201 =3 8,520 7,520 1,000
01 At22t2l] 8,520 7,520 1,000
O&FE 2l Zul Xt 600,000& x102] 6,000
O0I34] =2tda gxtg
900,000& *1JH A~ +2)H = 1,800
Ost&d 2e| 570
RSN 20,0003 102 A 200
-=Hl% 10,000&*7S 70
-MHDISE 20,0003+ X 100
-FAlZclbl 100,000 *1JH A %200 = 200
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A SYII=HH
=g

A S| 2N BB (UYL S - 5E)
el SR D28 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2a=sA 25,0002 *2JH E +32 150
206 M=l 23,100 23,900 2800
01 MZH| 23,100 23,900 A800
Od3xd 28 Nz +¢ 23,100
-El817 e 5,000& 1,000 5,000
254 b2 2 9,000 5002 4,500
TABA EZ2 7Y
40,0002 x60F=+45 9,600
“HMSA e FY 10,0002 *200H 2,000
CSNT U BAAE R P
200,0002 %105 2,000
SENE SAAE 54,910 94,829 A39,919
101 @124H| 23,400 46,869 N23,469
M ORIMZZ2NSE S 23,400 46,869 N\23,469
OSRZENH AL 22| LAIAS 23,400
-H=&Y 130,000 ~4&*10& 5,200
-€dl ¥ HIZ Al
130,000 x2&» 10! 2,600
oE & 0lAl &g
130,000 x8E * 15 15,600
201 er23| 20,250 17,700 2,550
01 At2teltl 20,250 17,700 2,550
OSENE BAAY SR
7503 23,000m’ 17,250
SEY AT 22| FY| A%
600,000 *52] 3,000
202 04| 1,260 1,260
01 SLHoIH 1,260 1,260
ORENE NSZA 2 3 2oL (=
2l) 70,0002 x3H 6 1,260
206 M=l 10,000 9,000 1,000
01 M=4l 10,000 9,000 1,000
OSENE ZAZ 22ME 72 10,000
~&lHl R 5,0002/+1,000 5,000
-2&4d Hl=+ 10,0002 +200% 2,000
-ANESA SHE Y 500,000 65 3,000
AU =2s M2 E5 AY 20,000 0 20,000
= 6,000
o 14,000
206 M=l 20,000 0 20,000
s 6,000
s 14,000
01 M= HI 20,000 0 20,000
Oo=2dstz 7Y 80,0002 x50 4,000
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M sgII=4dH
M sPIISHLES(sEHYA/ =L - &)
el SR D28 (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 1,200
= 2,800
o= 74 90,0002 x50H 4,500
& 1,350
[ 3,150
O&E ¢ 8,500 * 100 850
T 255
= 595
O 9,000 *20&+50H 9,000
& 2,700
2 6,300
Os% o gml 2o
27,500 3«65+ 104 1,650
T 495
= 1,155
SENHILIE 24l (sdHalZsd/sY - s&) 721,728 690,267 31,461
22 THA A5 721,728 690,267 31,461
=gUA 29,460 302,946 A3,486
101 2124 d| 31,200 32,976 A1,776
M IIZINZ2 2 NS Es 31,200 32,976 AN1,776
O=st&AIZ 2HIE LAIAIS 31,200
~HAIS BHE Y HREZ R
130,0002 x10¥ 10! 13,000
-HAIS D12 HAIZ 22
130,000 4% x20Y 10,400
-EAHEY 130,000 *10E 6 7,800
201 B2 AY| 35,140 36,360 A1,220
01 A=R2teld| 35,140 36,360 21,220
O=ed A2 =4 & = ZUIX
600, 0002 *5CH*33] 9,000
O2BUE THl Y 29 AL 82 98
SZ20HAH| 8,000 x3H x40 960
O=3&Z ZAU3 AARIA &A=
600,000 *6Z 12! 3,600
O=stdA2 29 6,080
—OH E X &t 100, 0002 *207H4 2,000
“HE(A) 17,0002 %2404 4,080
O=3HE 0lSKtE ARt 15,500
-A8E AN 232SE
500,000& *1CH+6 3,000
- A HALELI
500,000& 4 CH+4 8,000
S8 EANEY
500, 0002 »3CH*3Y 4,500
202 O4H| 1,470 1,960 A40
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A SI|I=HEH
3. SZEO0LIE gdsisEddsd/sd - 58)
(s R S ON e 4—.9P EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 1,470 1,960 aviicy
OF= 2s=ME B0 g2 =38 2
ofel(2t2) 70,0002 x3H 7 1,470
206 MH=H| 19,350 19,350
01 M=4l 19,350 19,350
O=zdA2 2EME 78 9,350
-AHE 280 26,000 »100m* 2,600
UL 6,000& x200& 1,200
“SAIZ HE AAKC
12,0002 »400m’ 4,800
~SAZEE JIEA QA
15,0003 +505 750
O=3t=M HAE =278
25,0002 *4007H 10,000
301 EtE N = 12,300 12,300
11 dALEBIXNIE S 4,800 4,800
Oolgttl= =etd NHASAAL S|
8,0003+30& »20! 4,800
14 0Bt 2a3 7,500 7,500 0
Ooljgtel= IgUd Ald=s 7,500
-SETMMSFE Y
1,200,000& x1H 1,200
~HYERIALA 900,000+ 1 900
gy 300,000 6 1,800
S8z Ee 300,000& x2&H 600
-deld 200,000 *15H 3,000
401 Al HIZL 2018 200,000 200,000
01 Al&HI 200,000 200,000
Odlrt U =3t 8=
80,000,000& * 12 80,000
O=EUE A2 Xd 70,000
-=3S33 A2 &4
10,000,000 * 14! 10,000
-SHSHAU EX 15,000,000 *14] 15,000
-BIOtE HAIAIE 20,000,000& x 14 20,000
-OFI ™A E =4 25,000,000 * 14! 25,000
OUE X822 THHl/2&/=8/aHH
30,000,000 *14{ 30,000
OZXEE 2&/2E/dM & 28
20,000,000& x 14 20,000
sgd 22 24 74,218 75,926 1,708
101 @1A4H| 48,618 48,326 292
04 JIZtNZ22 XS 2+ 48,618 48,326 292
OgEd £2 =4 2URY 48,618
-SEd 22 xd 2e 33,610
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=PI
3. SZEO0LIE gdsisEddsd/sd - 58)
el A=A 4—.9P EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
JlEs 76,9603 x 12 +260 20,010
== 76,9603 x 1 »52 4,002
g0= 1,693, 1202 x1E+32 5,080
7 U Y24
76,9602 18 x12& 924
A2 = 29,945,040 * 18 *12% 3,594
-Eldl & HIE AlHI 76,9603 x 12«5 4,618
IS & 0lA &Y 76,9603 x 15«0 10,390
201 =3 6,000 6,600 A600
01 At22t2l] 6,000 6,600 2600
Ooggd 22 =d FHIYX
600,000& x102] 6,000
206 M=l 19,600 21,000 21,400
01 MZH| 19,600 21,000 1,400
OgEd 22 =d M=+ 19,600
—SERY 7,000 »800% 5,600
-Zl&3d 2+ 20,0003 »50% 1,000
RCESPNDU NS 200,000 *35+5H 3,000
“EotAdetAs 2 50,0003 *200H 10,000
Lidl, 28 A2 23 174,899 156,040 18,859
101 @12A4H| 11,699 11,140 559
04 JIZtN2 2N S+ 11,699 11,140 559
OLitl, 23dt2 &9 28l 2FY 11,699
-Lidl, 2SME2 =4 22|
76,9602 x10H 14 10,775
-LiHl, 2Sde2 2 &Y
76,9602 x6H x2 924
201 Let=Ehl 2,700 2,700
01 AtR2t2|HI 2,700 2,700
OLttl. 2 Sdef2t &d 2,700
-HXe & e 100,000 * 1204 1,200
-HE 10,0002 150H 1,500
206 M=l 58,200 50,000 8,200
01 MHZH| 58,200 50,000 8,200
OLHl, 2Sdt2 28 e 28 33,400
e A9 e 7Y
30,0002 *105*100K 30,000